i H AN K4 gL k2 LR ik
100m T 3 M WA KAEB) 6 fir 11.13 +0.3
Ti% 3 HH @) 74 11.23 +0.3
T 2 wem 12(3) 6 fir 11.10 +0.4
T 7 R TEE(2) 3 10.97 +0.6
T 7 wE B2) 4 fir 10.99 +0.6
T 1M W E(2) 4 fir 10.85 -0.7
PR 2 A 8 fir 10.89 +0.4
200m Tk 45 WA KAEB) 8 fir 22.81 -1.0
T2 4 el 2(3) 5 fiL 22.92 +0.5
T 1A AR B (2) 4 fif 21.98 -1.2
T 3 B Hm2) 3 22.07 +1.7
PRI 1 40 4 L. 21.74 +0.0
TR | mE RO 5fir 22.36 +0.5
400m T 3 el (3) 4 ir 50.47
T 8 i £ HeRE(2) 3fr 49.85
10K | WE 6@ BRA 50.05
110mH T 6 Fi A H(3) 3 15.10 +0.1
TiE 6 i B FEEQ) 5 fiL 15.39 +0.1
T 3 1T R A ¢)) 4 {7, 14.80 +0.0
PRI 140 6 i 14.63 +0.1
T 250 IS i35 (0) 8 fir 15.94 +0.2
5000mW | IR BRI R 3) 47 | 22:46.97
ek ERB) 6 fir 23:58.73
110mJH | T 24 B AR 1 {7 15.23 -0.8
PN 2 i 14.84 +1.9
Fi 1 il Bk 1z 15.09 -0.9
NI 17 14.76 +1.9
4X100mR | FiE 6 #l i #(3) 2 fir 42.11
A N = ()
ZWA KAEB)

SFH

K—(2)




i H VAR K4 gL Bk LR ik
4x100mR | i 6 S A m2) 147 41.30
P TEEE(2)
AR 2 (2)
I E(2)
PN SR H(2) 3fr 40.93
SR TEIE(2)
R 290 (2)
W E(2)
4x400mR | Ti% 2 i £ HeRR(2) 2 fir 3:19.68
W A2
R fiE(2)
e =)
T 6 Al YT EER(3) 4 ir 3:20.88
B RR(3)
3 EUN))
B E (D)
(gEl VAZAAN K4 [[=Eva ROERk JRGH S
100m T 8 i R #i(3) 34 12.68 +0.0
T4 mh k) 1z 12.34 -0.1
PRI 2 #0 3L 12.56 -0.1
Ti% 6 i AH BELH(2) 5fir 12.55 +0.4
PRI 2 #0 8 fir 12.74 -0.1
T 1 Kbk Hk(1) 5fir 12.63 +0.1
Tk 9 i gt Fa) 6 fir 12.96 -0.1
Tk 9 i HI #ERK(D) 1 {7 11.94 -0.1
YRR 2 Al 17 12.03 -0.1
NI 2 fir 12.04 -0.5
Ti% 9 #i Fiy mEFQ) 3fr 12.67 -0.1
200m Tig 9 i L ) 8 fir 26.47 -0.2
Tk 4 fH R EEQ2) 5fir 25.84 -0.4
TERI04H | AH  EIH2) 3L 25.62 +0.6
Ti% 6 #i = v HETH(2) 3 25.89 -1.3
TEI0M | EHEQ) 4 fir 25.73 +0.6
T 55 HH O &HI©Q) 4 fir 25.85 -0.5




i H AN K4 [[=¥ia Gk LR e
200m T3 6 i HI o #ERK(1) 1 {7 25.07 -1.3
PR 2 Al 17 24.41 -1.0
Ti% 3 /NS % 2(1) 74 26.93 +1.1
T 7 A KB FH22(1) 5 26.02 +1.0
T 7 A Kbk Hk(1) 30 25.88 +1.0
400m T 1M ks FHi7(3) 1 {7 57.56
T 1M = HETH(2) 2 fir 57.95
Tig 14 KB F22(1) (R 1:00.84
T 5 A wiE NE(3) 4 fir 1:00.16
T 3 M HH O EFHIQ2) 3 57.87
T 250 M =) 3fr 58.85
100mH T 2 # JFREF  JHE(2) 2 fir 14.08 -0.3
PRI 2 #0 3L 14.31 -0.6
RJYs 6 fir 14.12 -1.0
T 3 MR35 d A >(1) 3fr 15.01 -0.3
YR 141 8 fir 15.21 -1.2
T 2 i BIA (1) 50 14.96 -0.3
R 2 Al 7 15.15 -0.6
— Bk NI R EOZ272(1) 21 fif 10m45 +0.1
L PN i [ 2 i AL(2) 4 fir 12m82
S >N () 8 fir 11m60
400mH T 1 B0 9RE(3) 3fr 1:07.26
4x100mR | 7% 3 #H gt Fa) 3fr 49.48
N EOZR7=(1)
KA HiZE()
/ML B F(1)
T 5 i B JEEQ) 1 {7 47.17
I HEKRQ)
ks FHi7(3)
AH HJTH(2)
TR R mE©2) 2 fir
I HEKRQ)
ks FHi7-(3)

AW ETH)
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W =)
ks FHi(3)

1AL

3:562.04

HH O &HI©Q)
R HiT(3)
= v H#ETH(2)
¥ =)

3L

3:47.24

A B (2)
/< B A (1)
Re #HiEQ)
Al H325(2)

6 fiL

4:10.39




